UConn/ECE 5212 HW 2 Waveguides F. Jain  09/06/16  Due on 09/13/2016
ONLY Q.1 is due next week.
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Fig1a. (Top) shows a three slab wavegude. 

Fig. 1b (bottom) shows the electric field profiles for TEo and TE1 modes.  

Q2. (a) Using effective index method, determine the propagation constant ( for both the waveguides and evaluate the mode size for the fundamental mode. 
Start with structure (b) first)
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Fig. 2 Configurations of a ridge-waveguide. Usage of effective index method in ridge-waveguides.
Given: nSi = 3.50000, 
nSi1-xGex = nSi + 0.104x;   nSiGe = 3.50125, for x = 0.012 and (  = 1.32 (m
(b) Compare the modes in these two configurations.  
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